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Instructions: - l. Attempt all questions.
2. Mi.l::Ttable assumprions wherever necessary.3. Figures to the right indicate full marks.

Student Exam No:-

SECTION-I

Que-l (A) Derive torque equation for an electrodynamometer type instrument used as wattmeter.(B) a currenr transformer havin_g a 1.F;;ru;.l, rated at 500/5 A, 50 Hz with anoutput of 15vA. At rated road with noi,_inauiil;ffi;, ,,r.i,iir.r" *aquadrature component(reference to flux) of the-exciting mmf are gA and 10Arespectively' The number of turns ilih;;;ary is 9g and the resistance andleakage reactance of the secondary winding ir-b.:so and 0.3e respectively.

[06]
l06l

Que-l (A) what is energy? Discuss construction Sfrnorr,ion type singre phase energy meter. 106l(B) Three identical coils' each,9f (a:45.6)ohms are connected in star across 4rsv, t06l3 phase, S,.Hzsupprv. o:ify:! dt t; tr) the two wattniei'er reaoing wr andWz when they are connected to measure total power.

Que- 2 

:] ffiX.tf ;t;'J:fll.qircuit 
and phasor diagram orc.r and derive the expression t06l(B) Describe the working of wein,s bridge with suitabre diagram. 

t05lQue- 2 (A) An owen's bridgerr *r|i-?:?x^Hr:rerties of a sampre of sheet steel at t06l2WIz. At balance, arm ABis test specim.n; u.rn BC is & =100 O; arm CD isc+ = 0. r uF and arm DA is Rr :g34'e iirrril, *it! c, = o.tziup. orriu. balance
:"#l["J 

and calculate the tn .ti"" irp.o*.e of the specimen under test
(B) Explain how power can be lleru,e by 3'@circuit with the herp of two wattmeter. t05lIllustrate your answer with the help#. fi;;; diagram ro, u .i. .onnected load.

Que-3 ltlgnet any two questions.
(A) Explain in details the eifect of opening the secondary circuit of a curren t 

Il2ltransformel.wlen 
the primary winding is energized.(B) with neat brock aiagram-e-xpruio trr"Fr"q;;;;., serective wave analyzer.(c) what is the probr.r r*"rijt. *irh;;;il#*, oflo* rrrr.tuirr how are theyovercome through the use of Kelvinis a""[iiiriag".
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SECTION-II

Que-4 t 
ilffilt|!:: 

between recording and integrating instrument, give suirabte exampte
(B) Describe the working of Maxwell's bridge and derive the relation for unknownquanji.ty. Also drawphasordiagram. 

e- --

t"'*11?:" the working principle 6rringt. phase dynamometer type of power factor

Que-4 (A) Givg the comparison between CT *d?t(B) Define following terms.
(i) sensitivity (ii) Dead.zone (iii) Accuracy (iv) precision(C) Discuss advantage and disadvantage of pMMC.

Que-S (A) The 
tT "* 

schering bridge are arranged as follows:
Arm AB: imperfect capacitor. Arm BC: resistance of 20000e.Arm CD: resistance of 12.00e 

:lT!.A_Uy capacitor of 300 pF.Arm DA: Standard capacitor of 0.05 uF. 
"r

All the resistors are-non-reactiry. 
Jrre supply of I KHz is connected to points Aand c and detect to points B and c. cacura:ti (i) the capacitance (ii) theequivalent series resistance (iii) dissipaiionE.tor.(B) What is flux meter? Explain with *ftlUi.If;;*r.
OR

Que-5 to'Y#ljfl.vou mean bv Epstein rqu*rr n*plain bridge method formeasurement of
(B) a 3'Q eneryy meter having meter constant of o.l2revlkwh is used with a p.T oftatio 22000/110 and c.T oiratio 500rt;;;; connected to a load of unity p.F. Thedisc makes 40 revolution in 6l sec. if the inrt u.rnt readings are 110 v and 5.25amp. Find yo enor in energy meter.

Que-6 Attempt any two questions.
(A) Classify the enors with their remedies.
(B) Explain the working of a megge.vith herp of a neat diagram.(c) Draw and exprain constructiJi or a' arroiu*i Galvanometer.
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l06l

t0sl

Ir2l

END OX'PAPER
Best of Luck
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